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S, s linear, aned causel. It has memory,

SEy A Sy = §7 add,

oS, s shifd saveriant.
To make Sy more clean, Jet 3/r‘>=y/wx\.
Then S, 3yt ()= S. f3§ (¢
= 3(5-:\-2(1-‘45.
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1) The }mPu.iSe (\cg‘oon:e h = S;Sf

a\ h(1) = u (1), where wu is the Heawicicle
S*’-QP func'lion.

b) h(4) = S~ - S(t-4) .
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3/ Since the Plf\c.sg is © for all Q, H is
teal -?unc'(;on. I .e. H=’Hl

Le+d 7(::) Adenole the o-wlpwl_
Yy = HE) G ). as)= )+ Yt (3h).
> Y£) = 7T('?/a.3. 7(*3‘-‘ 2 sine (2x).

_‘:LI See Aomework or no"es.




